Quiz 7
Chemical Engineering Thermodynamics

February 23, 2017
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Figure 5.12. Linde liquefaction process schematic. The system boundaries shown on the left

a) Figure 5.12 shows the Linde liquefaction process. Sketch a P/H diagram showing the
eight streams of the Linde process. (show 2 and 2”)

b) Make a table for each stream indicating the state (sat. vap. etc.), T, P, H, S, n,, q, dm/dt
(mass flow rate). Assuming that you have the P/H diagram and that you are given the
pressure and temperature for streams 3 and 8. Which streams can be immediately solved
for H and how. Fill in as much as you can from the initial information including
indicating which streams have the same flow rate, P, T, H, S and how you would use 1.

¢) Can streams 1 and 2 be initially ignored? Why?

d) The two dashed lines in Figure 5.12 indicate two local balances that need to be
considered to solve this design. Show how the System I balance in mass and in energy
can yield q for stream 5.

e) Show how q can yield Hs.

f) Show how H for stream 4 can be resolved from an energy balance on system II.



H

Tl 0] & %0 - |~ i
i : m,.f,u:cfa - 1{,,

jV}T(/)f H) j; v

2 P, ( W%&%*{“?’“f} {(, My
3 Tl /3 IZ’ f] r W’}
4( ]}L’ pi / b ":"}
f le Telle | H¢ S ok
¢ £ T\ | b i . n‘;‘
/
¢
)

WU‘Tg p(j Hc {5 3 "‘5

~ Pt m 3015 C‘MZI/C/LM//{-M /0/6//"4(/
°,ﬂro;ijl (cf(? rb“/ fré

/

"wadé/ Petre /{,/ dwﬂf/i
I §V o lL




C) f*[wm( [ Y2 can he /férm/ r,h‘c.p
%7’ QM/Y /L(Lul/ TJp [y [ TvPam .)9‘

d) rv‘)),: w‘16+w')8 /v’;(://b:j—W'?Oo (/)
/—/_?h‘/’l :/'15";'({4"”3’“}1& (2"
- My
[~ ",
upy - (1) 7w @)
: ; )k/# b
o P
[/JMj = /4(( ) b g &
/‘/] B ('_ﬂé) F+ /loc(_;f,._é-)
(Hy-Hp) = (/J -//)
Z, ‘f_'r.@ (HJ /7/(3
o m)



	Quiz 7 Che Thermo
	Quiz 7 Answers 3
	Quiz 7 Answers 2

